

			Vendor Ranking	Page 1 of 1
Letting:	04210604	June 04, 2021 10:30 AM	Call Order: 001	Contract: E4V15-R0
District:	District 4		Counties: PALM BEACH	Fed Aid No: N/A
Contract Time:	365 CALEN	DAR DAYS		Project(s): 40635087201 (*)
Contract Desc:	PALM BEAG	CH COUNTY MOT - ROUTINI	E MAINTENANCE	

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ACME BARRICADES LC	Responsive	Winning bid	\$39,837.00	100.00%
2	SAFETY SYSTEMS BARRICADES, CORP	Responsive	Non-Winning Bid	\$45,083.00	113.17%
3	BOB'S BARRICADES, INC.	Responsive	Non-Winning Bid	\$59,818.00	150.16%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	06/22/21	BEGIN TIME:	10:30 AM
	END DATE:	06/25/21	END TIME:	10:30 AM

NOTE: The award amount and contract performance bond shall be based on the budget amount of \$ 50,000.00 and not the contractors bid. There is no guarantee of minimum or maximum amount to be issued under this contract.



## 06/04/2021

## **Tabulation of Bids**

 Letting:
 04210604
 June 04, 2021
 Call Order:
 001
 Contract:
 E4V15-R0

 District:
 District 4
 Counties:
 PALM BEACH
 Fed Aid No:
 N/A

 Contract Time:
 365 CALENDAR DAYS
 Path Days
 Project(s):
 40635087201 (\*)

Contract Descr: PALM BEACH COUNTY MOT - ROUTINE MAINTENANCE

The work under this contract consists of Maintenance of Traffic along primary roads in Palm Beach County.

MAXIMUM LIMITING CONTRACT: The award amount and the contract performance bond shall be based on the maximum limiting budget amount of \$50,000.00 and not the Contractors bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

\*Funds Approval for Fiscal Year 2022 is contingent upon Annual Legislative appropriation.

\*Award of this contract is contingent upon Annual Legislative appropriation Budget Approval of Fiscal Year 2022 funds.

Line No / Item ID Alternate Item Description	Quantity Units	(1) ACME BAR	RICADES LC	(2) SAFETY BARRICAD		(3) BOB'S BAF	RRICADES, INC.
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TI	RAFFIC CON	ITROL (MH					
0005 0102 14 TRAFFIC CONTROL OFFICER	60.000 HR	65.00000	3,900.00	60.00000	3,600.00	55.00000	3,300.00
0010 0102 60 WORK ZONE SIGN	136.000 ED	10.00000	1,360.00	5.00000	680.00	10.00000	1,360.00
0015 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, D VP, DRUM, OR LCD	200.000 I, ED	1.00000	200.00	1.50000	300.00	1.00000	200.00
0020 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL	30.000 ED	5.00000	150.00	20.00000	600.00	25.00000	750.00
0025 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	60.000 ED	35.00000	2,100.00	45.00000	2,700.00	50.00000	3,000.00



## **Tabulation of Bids**

Page 2 of 3

59,818.00

Letting: 04210604	June 04, 2021	Cal	Il Order: 001		Contract:	E4V15-R0	
Line No / Item ID Alternat Item Description	e Quantity Units	(1) ACME BAR	RICADES LC	(2) SAFETY BARRICAD		(3) BOB'S BAF	RICADES, INC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TRAFFIC CON	ITROL (MH					
0030 E101 72 MOBILIZATION (EMERGENCY RESPONSE)	10.000 EA	100.00000	1,000.00	65.00000	650.00	200.00000	2,000.00
0035 E102 1 3 MAINTENANCE OF TRAFFIC (SITE SPECIFIC)	60.000 LO	100.00000	6,000.00	300.00000	18,000.00	400.00000	24,000.00
0040 E102 74 9 TRAFFIC CONES	3,104.000 ED	0.50000	1,552.00	0.75000	2,328.00	2.00000	6,208.00
0045 E102 97 1 TRUCK MOUNTED ATTENUATOR (TEMPORARY)	25.000 ED	800.00000	20,000.00	550.00000	13,750.00	650.00000	16,250.00
0050 E102100 MOT MAINTENANCE SERVICES	55.000 HR	65.00000	3,575.00	45.00000	2,475.00	50.00000	2,750.00
0001 TRAFFIC CONTROL (MH) S	Section Totals:		\$39,837.00		\$45,083.00		\$59,818.00

**Contract Grand Totals:** 

\$39,837.00

\$45,083.00



			Tabulation of Bids			Page 3 of 3
Letting:	04210604	June 04, 2021	Call Order: 001	Contract:	E4V15-R0	
		NOTE: Failur	e to file a protest within the time pr	escribed in section		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.